BIOLOGY I

OPEN-ENDED ITEM: Genetics
Curly hair (C) is dominant over straight hair (c) and long eyelashes (L) are dominant over short eyelashes (l).  Connie, who has straight hair and long eyelashes, whose father had curly hair and short eyelashes, marries Andy who has curly hair and long eyelashes.  Andy’s mother had straight hair and short eyelashes.

A. (5 pt.) Set up a key, and show the genotypes of Connie, Andy, Connie’s father and Andy’s mother.





B. (5 pt.) Show the cross between Connie and Andy, what are the possible phenotypes of the children, list what they would be and how many of each.














